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1. BEEHOL

(1) BEINE
OEKRBEERE 5,389,000 5,611,000 -222,000
QZmMEE 12,240,000 12,120,000 120,000
QZmAaESE 278,000 288,000 -10,000
@EZINE 32,103,000 45,389,000 -13,286,000
OZmnEbESE 63,787,000 64,415,000 -628,000
©HUA 12,000 12,000 0
REINEEET (A) 113,809,000 127,835,000 -14,026,000
(2)BEER 0
OFEXEXH 0
& E R 3,302,000 3,302,000 0
HE 21,185,000 21,075,000 110,000
BERENES 10,090,000 18,035,000 -7,945,000
BREA T E 765,000 709,000 56,000
=EINELEE 7,295,000 8,502,000 -1,207,000
WREXBE 4,238,000 5,014,000 -776,000
BIEERE 1,295,000 1,698,500 -403,500
A ERE 810,000 810,000 0
HEMNSRERE 0 120,000 -120,000
HESRE 2,394,000 3,978,000 -1,584,000
EieE 30,000 50,000 -20,000
FRIE AR E 8,342,000 10,599,000 -2,257,000
PRFE 245,000 367,000 -122,000
KENBE 1,871,000 1,515,000 356,000
EE# 6,538,000 7,415,500 -877,500
R 564,000 379,000 185,000
mEE 1,830,000 1,766,000 64,000
HRNERE 672,000 1,945,000 -1,273,000
=Ei=k o 1,148,000 1,481,000 -333,000
BR&E 850,000 450,000 400,000
EEE 16,250,000 16,250,000 0
XIFftE 0 0 0
RXE 19,649,000 17,879,000 1,770,000
& 1,316,000 1,253,000 63,000
TtAE 3,890,000 3,650,000 240,000
e 124,000 104,000 20,000
QEEE 0
& E R 367,000 367,000 0
WwHEFS 286,000 294,000 -8,000
EERENES 0 0 0
REATE 16,000 16,000 0
EIELEE 179,000 180,000 -1,000
REXABE 46,000 24,000 22,000
BIEERE 35,000 68,000 -33,000
EE R E 34,000 34,000 0




B LEE BIEE R
HEASRERE 0 0 0
HERE 224,000 250,000 -26,000
BiEE 0 0 0
FR| & AR E 60,000 60,000 0
PAFL & 5,000 5,000 0
KESBE 10,000 6,000 4,000
BE 234,000 277,000 -43,000
REEF 4,000 3,000 1,000
HREE 0 0 0
HEBRNERE 134,000 197,000 -63,000
=Ei=ks 66,000 66,000 0
B & 0 0 0
e 0 0 0
XiEAE 0 0 0
e 760,000 1,155,000 -395,000
2E 130,000 88,000 42,000
ME 260,000 204,000 56,000
EEERB) 117,543,000 131,641,000 -14,098,000
S48 25 2 T T 2 R AR R4 0 0
HEARBEIME R E 0 0
BEEERMBERESE 0 0
BRERMIESTmIE RS 0 0
FHMmIEmEET 0 0 0
L HRFR E IR EEE (A-B)=(C) -3,734,000 -3,806,000 72,000
2. BENEFDOER

(1) BEHINEE 0 0 0
BEENIEET (D) 0 0 0
(2)RRENER 0 0 0
BEENERE(E) 0 0 0
L HR R SV 1 RIZE (D-E) = (F) 0 0 0
hEFHREEE(G) 0 0 0
L4 HA — % 1E WK BA EE 1R EE (C+F+G)=(H) -3,734,000 -3,806,000 72,000
—RRIERBFERIE RS (D 24,082,000 20,323,000 3,759,000
—ARIECREAEHIR AR S (H+D)=(J) 20,348,000 16,517,000 3,831,000
I 357 1IERKESEIE R D ER 0
OZHEHEBIE 0 0 0
Q—HRIERBABE~DIREEE 0 0 0
L HAE 7 1E IR BA EE 1R EE (K) 0 0 0
IEEIEKE ESEES (L) 387,125,000 387,125,000 0
BT IE R BA EEHA R IR = (K+L)=(M) 387,125,000 387,125,000 0
I ERBIERARES )+ M) 407,473,000 403,642,000 3,831,000




